MCHJ 5HBRF s0-300

FATRM (3 M) mindman

MCHJ-125~300

CtO.OZ

G2

CtD 02

A : HTRHEA
B - ST <
S+ ML RAL oL, :

ROWERF

MCHJ-50~100

DJU
>
BB

BF
B1
&
&
fan\
A\
O

BC

BD

FUmFY
HE

AB \ 2-P &AL

6-X1 902

g ;
ROHE
MCHJ-125~300 6-X1302
6-X2
TxTA % ‘ | . |

\ ; ) '—i— —

\ I I I

\ i >

5 < | 7I1E

e [_]

g?g Al |AB|ACc|B1|BB|BC|BD|BF|C|D|E|G|GI|G2|HI |H2| K | L
50 5 12 12 5 35 26 23 23 8 16 4 12 6.5 31 26 27 19 45
66 [11.5]| 12 18 5) 43 32 27 27 12 22 5) 17 (10 41 33 35 25 56
80 8 26 18 8 50 36 31 31 15 26.7 6 22 |12 51.5 405 | 435 32 70
100 [ 13.5| 24 24 (10 60 41 38 34 18 342 10 26 | 14 64 51 54 42 90
125 |17 30 30 |10 68 49 42.5 |37 12.5(142.3| 10 31 |155]| 79 64 67 53 112
160 | 20 44 38 |10.5| 80 55 48 45 18 548 10 39 | 20 102 81 86 67.5 146
200 | 29 54 54 119.5 (107 82 68 64 22 67.5| 12 42 |22 126 100 106 75 180
300 |36.1| 80 80 |29.1(153.1 |105.1 (101.1 | 87.1| 30 91 15 66 | 32 172 132.5 | 142 105 240
o M N ol P |a|R s T |TAlU |V |wW]|x1]|x2
50 |07.3x4.1%, 04.3 EiF, P.C.D.g45 M5x0.8x8 % M3 |M5x0.8| M3 57 | 94H7x5 6-M3x0.5 7 112 3.9 | o5 23
66 |29x5.1 %, 95.1 Hif , P.C.D.g56 M6x1.0x10 M5 [M5x0.8( M5 74 | g4H7%8 6-M4x0.7 8 112 3.9 | 26 o4
80 |210.2x6.1 %, 6.8 HiF , P.C.D.g70 M8x1.25x12 % M5 G1/8 M5 92 | @5H7%8 6-M6%1.0 10 112 3.9 | 28 26
100 | 210.5x6.5 % , ©6.8 &l , P.C.D.g90 M8x1.25x12 & M5 G1/8 M5 114 | @5H7%8 6-M6%1.0 12 112 3.9 | 210 | 26
125 | 913.5x8.1 %, 8.6 &3F , P.C.D.g112 M10x1.5x15 & M5 G1/8 M5 139 | g6H7%x10 | 9-M6x%1.0 14 112 3.9 | 210 | 06
160 | 913.5x8.1 &, 8.6 Hif , P.C.D.g146 M10x1.5x24 M5 G1/8 M5 179 | @6H7%x10 | 9-M8x1.25 | 14 112 3.9 |212 | 28
200 | 217x10.5 %, 10.3 3@ , P.C.D.180 M12x1.75%x25 % | M5 G1/4 M5 | 218 | 10H7%19 | 9-M10%x1.5 | 20 1125149 |214 | 210
300 | 218.5x12.2 %, 812.5 H3@ , P.C.D.g240 | M16x2.0x39.1 % | M5 G1/4 | G1/8 | 292 | @10H7%x19 | 9-M12x1.75| 20 2 25149 |218 | @12

M mindman 3-62




	5_外觀尺寸

